=\
F' S HBON Eé(/“b“%) INSTALLATION INSTRUCTIONS
OFFROAD ;@ PART No.  FB21260
ZAY Fishbone Offroad

Stainless Steel Tie-Down Kit

VIDEO AVAILABLE

REQUIRED TOOLS KIT CONTAINS QTY

19MM Wrench (Fig. 1) M12 SS Bolt 4 ea
(Fig. 2) M12 SS Washer 8 ea
(Fig. 3) M12 SS Lock Washer 4ea
(Fig. 4) M12 SS Eye-Nut 4ea

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



F] S H B O N Eé%‘\m\(& INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB21260
Fishbone Offroad

Stainless Steel Tie-Down Kit

)

2L
Z

1) WARNING! USE THE TIE-DOWN KITS AT YOUR
OWN DISCRETION.
These are not to be used for any structural
components, these are not lift points, nor recovery
points. Use at your own discretion.

2) APPLICATIONS
These kits were designed to help aid securing down
items to your vehicles. These fit locations where a
%" hole is such as on the parts below:

Fishbone Bed Racks
Fishbone Storage Racks
Fishbone Tub Rail Tie-Downs
Fishbone In-Bed Tire Carrier

3) INSTALL

Find a suitable 4" Hole location where this tie down
kit is desired to be installed, place a lock washer and
then a normal washer onto the bolt, place bolt
through hole, place the additional washer on top of
mounting surface and lastly thread the eye-nut in
place. Thread Locker is recommended for vibration
resistance.

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



